R REBL-EH(ST4EESAHEFEER)DERZEICDOLNT

WH IR (B2 28EEE6 75) B2 1 SEOMTEICKE S A4
FE3 HMETHEOERIZOWTIL, BIKO LB VIToT2OTHE L, KB EZK
5,

SF B4 3 H 2 PG

HETHBEEER
HER WOl

1t
l



THAEE A ETRERBE R (FA)

(1)

B 13 5 5 g e o | mam | wem | WLE %

1 s eI B 4 SRR | R 310 7 7 317| Bt IR fei g

2 |BEBRBEE [ J A ) 4 BEEE M | PR R U A 0 22,110 23, 486 23, 486 ’Jfgh;;g]}% G

3 |HEesE [ ) 4 BERERMHNG PRI 4 of aasiaf a5z s ou b HEER

4 |HEREE [ J A ) 4 BEEE M | PR R YE A 0 0 52, 633 52, 633 ﬁigﬁfﬁﬁaﬁ@%%

5 |aswens I 4 L L ek 0 0 136 136| % 7 — R R ST 2

6 |SUb/EJEFEE (RAhe HEHRRMYE (BERBTFEL T T U FE 968 A 230 A 230 T38| AR L SR

T |UbAVEEE (RAhe BEREMBE | PR I AT e 3 247 A 45 A 45 202 | S HR M A 4 3

8 |HBERBE Hht 4 HE 4 HBE L FH 4 4,050 A 1,910 A 1,910 2,140 j,ﬁ%;;;i AR

o |mmems EoBAL S BERES s s 6 5,360 A 219| A4 2,100 1170856 LR

10 [BHE#E=E HEA BHEHNA BAHRFARR S A 1,722 365 365 2, 087 (B 24 3 fad 2

11 |HRAR—Y=E  |HA BEHEN KB REHEN 2, 150 600 600 2, 501K FE it ik & PR

12 [FRAFR—YE [HA HHEA %E;jmﬁlﬁv?y\/ké\% 700 A 700 A 700 0| A AR — > {iE Bh = B

13 |EERBE=E ifE ] NS BT SRR e S 2 3, 300 0 A 800 2, 500

14 |BERG=E ifi BHE NI R R K S E 2 26,400| A 10,400 A 14,400 12, 000

15 |HBERBE=R & HEE INEERE S A L ERE R 4, 700 63, 200 61, 800 66, 500| [fftk]




TR A MIE T RESRIFR R (FA)

_ (M)
124 5 o g B o | mam | wem | WLE e

HBERH=E TifE BEE R b A L s 2, 300 31, 400 30, 700 33,000 [#deit]
BERE=E & HEE HEERR BRI R 0 0 562, 100 562, 100[ [f4i]
HERLH— TifE HBEE HEv I —EFEE 4, 300 A 700 A 1,600 2,700
TRAR—Y=E  [ififf HEE BV D & s dE 3, 300 0 A 400 2,900
HRAR—Y=E [fifF BEE MRS v & — 358 53 9, 600 0| A 1,700 7,900
HRAR—Y=  [fifE HEE WA B R EF 23,900 A 7,700 A 11,800 12, 100
HRAR—Y=E [fifF HBEE TR7=Aa— hkfEFE 82, 900 0| A 15,300 67, 600
ACAEPEEE (i HEE HOEL X —SEFE 2,400 A 1,200 A 1,500 900

BEZBSEHR A3 176, 607 107,121 694, 766 871, 373




TR A MIE T RESRR R ()

(M)
o Wi \ oA o - PR I E#%
E é IE k/rf-“ > E: E\ 5, e i
ey Y H ¥4 T TR AT R i | v ez
= = . L S 2
| |eEnss GRS | e AR o T T 0 Loaal 1544 LB 1, sl R TR
2 |HEhwB=s HERGE |BERERE HETE SRt 2, 895 A 306 A 306 A 306 2, 58945HE (M. feE)
== GIN e A b i %% LT
3 |#EREE HERB |F5 R AR 4,521 A 162 A 162 A 162 4, 359 iﬁ*ﬁgg%ﬁ;&&%\ A
4 |HERE=S HERBE |HE R E I N 49,590 A 1,000 A 1,000 A 1,000 48, 590|KE2 (M)
PR S % NN ¥ i RZZ s
5 |#EREE BEREE |HHRAR gfﬁifﬂ%% (B 8,414| A 5970 A 5970 A 3,018 2, 444 gﬁgm(ﬁ&@*ﬁ(ﬁ*
6 |#EhBE BERBT | HE R R — S AT 18,500 A 1,375| A 939 A 1,375 17,561 Efﬁﬁg)\%‘ i (it
n B GREN, FRETY%E,
7T |HBEBREE BEREE |HERNE B R — Ry 118,981 A 3,226 A 3,226 A 3,233| 115, 755|dLpsEy . A ATEF R OVE(E
£H
NN R v BT — 2 & ﬁﬂéi;r s
E e E e 2R L AN HTARAR T — /ﬁjﬁ% Ay
8 |HEem= WA | M IR i 734 A 250 A 250 0 ABAL o e RIS H A
GRS T 4) ]
SeEokE . EREEH A
) - " " (FTefgh, THFEER)
9 |HERB=R N /NS R TN A 170, 365 9,962 9,962 13, 482 180, 327| [BFEFEY : Hiflant v
A T A YRS RS 5 Bl
EERERS A 4) ]
10 |EERGE INERR S VNVERE R TN 35,978 140 140 0 36, 118\ ik AL
11 |HERGE= INEERE NSRS A R INERE B (BEREE) 34, 890 A 724 A 724 A 724 34, 166| kA (HREM. FLw5Er)
12 |[HHEREE INERR INERE RS VR RS d 26,466 A 10,456 A 10,456 3,044 16,010/ (FIEFh AR
13 |HBERGE AN NS B TN R A AR s 3, 366 0 0 800 3, 366| M EZE #
14 |HERBEE INERE IVEREEE INEE A L e 45,673  85,349] 85,349 63| 131, 022| et

(i)




TR A MIE T RESRR R ()

(M)
X oA » - 5 W IE#%
IE Jehe > St
il H HEL T FRAH A ERE i | v ez
R AR NN S R L 3, 785 A 600 A 600 A 600 3, 185k (M)
SeEokE . EREEL A
\ (BT, THAAR)
ety [P E B HRE R A T 66, 502 4, 246 4,246 5,610 70, 748| [MEFRY : FHaaF v
A T A YRS kS 5 Bl
EERERS A 4) ]
‘ \ \ Whe, s, FROEL T
e[RRI PR R I S B F 3 0 0| 615,148 415| 615,148 %Eﬁiﬁ-‘%
foyel
ety R A R b A L ifE S 8,139 45,947 45, 947 33 54, 086 I(igié%
HEHBER (BB RBEE | E R SEE 8, 639 A 367 A 367 A 367 8, 272|452 (M. Jes)
HEWBEE | B8R W — R 238 A 54 A 54 A 54 184[Ks# (i)
HERGE | BB RALE BRI — R 2 2, 689 A 160 A 160 A 4160 2, 220K54 CHRMETY)
HERGE (BB R WU OB IR SRS 477 A 130 A 130 A 130 AT (REE. )
BERGE B IR ??;Qﬁmﬁ VT B = 870 117 117 117 987 |FIRIALAE:
. o 1 Kt ()
e T gggikﬁim 1k 1,235 A 125] A 125 031 1, 110| [MIRFY : 55 & bt
= R YN |
HERGE (BB R FfEsm B R 417 A 302 A 302 A 302 115|654 (F3ERD
2 > - =
HAEWCHR (HE R %gi&ﬁ%@@t&b@“ﬁﬁﬁ 175 A 60 A 60 A 60 V16 RS (BB OV AR
=, _ N AR B
BEREE (HERERE %%1”74’ 7 Ak 1,677 0 0 1, 400 1,677| [HHERY : 55 & LiiE
R YN |




TR A MIE T RESRR R ()

(M)
N . B]oOE - e PR HIE %
H IE Jkn 117 > S ik
12 5 7 H Rt o | EREU | WERL T e | e s
‘ {ERE R
FRBEE HERGE | BB RALE INREERE O L o 2 78, 151 1, 051 1,051 18, 267 79, 202| [MHEFY : 52 S LIS
FaA 4]
FRHEE INERS | BE R IR R IR L 1, 522 A 805 A 3805 A 805 Y ﬁ%ﬁfﬁiﬁ e, B

Rt (HRE®E, Bt i

FRBEE hERE | BEIRELE PR IR L 2,172 A 548 A 548 A 548 L, 624{ pt 3 Ore pt)
FRHEE FERs | E IR FE AL TIRIBEEE 9,657 A 740 A 740 A 740 8, 917HE (k. AHsE)
HERw L H— HERGE | BB IRALE HEWIEE 3,793 A 164 A 164 A 164 3, 620|454 B, Zitkh
W (&BEE. THHEA
HEvL 2 — HEREYE |HE RN HE Y7 s 4, 365 A 664 A 664 936 3, 701|%)
[#dtak]
B OVE L, KA
(ZFEED
[ A HRBER (NEMEE [ EAE A PR 19, 783 A 776 A 776 A 732 19, 007| [MIEFEY : Hrllaa v

A TV A SEGLRE TS 7 Al A
AR |

B LBt |t B A 52, 951 60 188 188 53, 139| e B (R
B
3 N e il
[ g | BRI s 3 38, 959 0 0 605 38, 050 VHIRA T RS LT

A b A SEGRE TS T Al A
AR |

AbAEFEE (S BEL (B ERBL (S EERE R 3,428 37 37 37 3, 465 |
ALAJEFEE (RSB FEE (HASEEREE PRS2 371 A 67 A 67 A 22 304k (EAE)
SUbAEEREE |2 EE (RS EREE  (GRg T ELEE# 1, 452 A 344 A 344 A 114 1, 108|## (FEkh

ALAEEREE (S EEFD (iR S bl ER i FR A 8,765 340 340 340 9, 105DEEKE




TR A MIE T RESRR R ()

(£
o \ N — 5% WE
il i i A o | R EER T s | T s

Kt (ZiEHD
bR E S HEHEE | FIOFEv 2 —& | FOFER ¥ —EHE 31,493 A 378 A 378 A 231 31, 115 ;%Egiﬁﬁ%%;é&;
BN S 4) ]

SRR EE  (HRBER [Foet s 5 — 2 |[FoEt s s — e E 2,464] A 1,199 A 1,199 301 1, 265t (FIERR TR
MRAR—YE  |[HSBER (ESBE Y |RESREE O & VD & ek 3, 306 0 0 400 &w6%ﬁ§?
TMRAR—=YE  |(RMEEFE |RMEEERGE | ARV IEER 2 6, 722 0 0 700 6, T22| R4
MRAR—VE |[(RMERFTE |IRE % NSV TSR 45, 825 6, 852 585 A 15 4&moé$§ﬁ%‘ﬁﬁﬁﬂg‘
MRAR—=YE  |[REEEE (KB X BERFEHREFE 23,935 A 7,660 A 6,660 5, 140 17, 275k (THHAR)

HRAR—YE |[RIEERFTE |[KE G2 M EA v 7 — 52 14, 696 0

(e}

1,700 14, 696 |JHHZ 5

e
mf
oA
i
W
k)
%
Bl
op
E\&

969, 026 116, 733 127,178 41, 791| 1, 696, 204




FHSHE HEBREIVFEATKREREL] [RER] (BfL:FF)
4 iy STE1% YEsE| S i3 3 o R SFRTiAR
L|HABERE= BEZEB MR 2, 895 2, 895 2, 793 2, 753 2, 753 98. 6% 95. 1%
2| BB E R 4,521 4,521 6, 187 4, 846 4, 846 78. 3% 107. 2%
S\BERE=E R — IR 361 361 3,185 3, 224 3, 224 101. 2% 893. 1%
YABE R E FRAREFZE 49, 590 36, 765 50, 827 50, 827 37,978 100. 0% 102. 5%
S|BERE=E WP eI EE (Mbhaeat) 8,414 3, 332 6, 623 6, 623 2, 052 100. 0% 78. 7%
6| BB RS E R LN A AT 18, 500 18, 500 19, 637 18, 837 18, 837 95. 9% 101. 8%
T#ERE=E BB R E 120, 127 119, 367 137, 260 132,133 131, 522 96. 3% 110. 0%
8| BB E INHFEERIRN R v N U — 7 B 2 4,734 0 0 0 0 - IR
INHBBERE=E TN PR 114, 793 114, 486 166, 508 158, 801 158, 494 95. 4% 138. 3%
10| F BB =E TN 33,078 33,078 31,919 31, 969 31, 969 100. 2% 96. 6%
1| BEREE INERE P (B RRE =) 35, 356 35, 356 34, 192 34,192 34, 192 100. 0% 96. 7%
12| BB E IR R K SUE S 26, 466 66 0 0 0 - IR
3| BEREE INFRGHE R 129, 864 129, 820 129, 468 129, 440 129, 396 100. 0% 99. 7%
14| H BB = AN B A BRI 2 3, 366 66 3, 428 3, 428 928 100. 0% 101. 8%
15| BB E INFRE S A VB 41, 700 0 101, 050 8, 276 2,076 8. 2% 19. 8%
16| Z BB = INFRER A RS 0 0 12, 688 0 0 e -
17| BERBE INFRBE IR ELE 3,785 3, 299 2, 950 2,924 2, 463 99. 1% 77.3%
18| H BB = i PR 2 A ) 4 1,946 1,946 1,778 1,778 1,778 100. 0% 91. 4%
19| BB R E INFERBEIRELE (BB E4)) 39, 800 35,972 50, 690 43, 300 38,928 85. 4% 108. 8%
20| B RG = HERCE P 41, 643 41, 435 66, 191 59, 853 59, 645 90. 4% 143. 7%
21| BB = MR ROE 18, 842 18, 842 18, 217 18, 307 18, 307 100. 5% 97. 2%
22| BB RG=E PR B (BB E) 13, 780 13, 780 14, 143 11,785 11,785 83. 3% 85. 5%
23| BB = WP IR L 10, 257 9,771 11, 637 10, 390 9, 929 89. 3% 101. 3%
24| BB RG=E i PR B A ) 4 9, 854 9, 854 10, 075 10, 075 10, 075 100. 0% 102. 2%
25| BB = HERHE IR (kB #4)) 23,100 21, 654 25, 605 21, 660 19, 269 84. 6% 93. 8%
26| B RIG = PR R AR O RS2 0 0 615, 148 0 0 e -
2T BERB=E H R R B B3 (EVAR() 0 0 4,983 4,983 1,283 100. 0% o
28| B RIG = R A L s R 5, 786 0 51,940 1, 868 468 3. 6% 32. 3%
29| BRI = PR B i R A = 0 0 12, 705 12, 705 12, 705 100. 0% g




THSEE ZEEFRELAVTFTERNTRER(EL] [BER] (B FF)
4 iy STE1% YEsE| S i3 3 o R SFRTiAR
30| BB R BB a kil Py 8, 639 8, 639 8, 745 8, 745 8, 745 100. 0% 101. 2%
31|t = HE R R 238 238 247 247 247 100. 0% 103. 8%
2| FHHE HE IR — i 2, 689 2, 689 2,612 2,612 2,612 100. 0% 97. 1%
33| =R HORH X R RS 0 0 180 180 180 100. 0% 4
34| S WU DB IR R R 477 477 472 472 472 100. 0% 99. 0%
B[ FHRBE = FRIZHE T DANEN R B AL R — FF¥E 1,506 1, 506 1,796 1,796 1,796 100. 0% 119. 3%
36| HE SAEX LRI OHE T ey N EE 870 870 1,045 473 473 45. 3% 54. 4%
3T FHBE = 1TV 5> FEDE /N FRER T2 -7 b 1,235 179 1,214 1,214 1,214 100. 0% 98. 3%
38| s SRS e S 0 0 200 200 200 100. 0% T
9| BH = NAEZE G HEME ol 3 0 0 400 400 0 100. 0% I
40 FIEE FEWE I F SRS 417 417 115 115 115 100. 0% 27. 6%
41 FREHE = IR SR 20 A HE 1t 811 811 901 915 915 101. 6% 112. 8%
42| BB ATEFE T SEHEE 1, 346 1, 346 1, 450 1,450 1,450 100. 0% 107. 7%
43| FREHE = NHEHEHERED 7230 OFRA A IE F 3 175 175 165 165 165 100. 0% 94. 3%
44| BB A a=F 4« AT — R 1,677 162 1,753 1,753 1,611 100. 0% 104. 5%
45| B E EEAERO KRS 245 0 0 0 0 - Bl
46| FIHE N — B 180 142 180 180 167 100. 0% 100. 0%
E=VE G AN T Y o — RS 78, 151 52, 985 80, 976 80, 203 80, 203 99. 0% 102. 6%
48| FHE INFAL R IR LR 1,522 1,522 1,522 1,522 1,522 100. 0% 100. 0%
19| HE = INERRA L TIRIEF¥E 13,715 13,715 13, 563 13, 563 13, 563 100. 0% 98. 9%
50| EE HP A IR L 2,172 2,172 2, 354 2, 354 2, 354 100. 0% 108. 4%
S| FHE = H SRS T 8 B E A 1,155 385 3, 621 3, 621 1,412 100. 0% 313. 5%
52| FRHE A L TIREHZE 9, 657 9, 635 9, 896 9, 896 9, 858 100. 0% 102. 5%
B3| HBEL L ¥ — AR EAEBE TR F 720 447 537 538 538 100. 2% 74.7%
54|lHE L 2 — HEWIcEYE 3,793 1,293 4,071 4,081 4, 081 100. 2% 107. 6%
55|HE 2 — HEY 7wk 11, 690 11, 690 14, 102 13, 720 13, 720 97. 3% 117. 4%
56|HE L #— HEY 7 —WEEE 4, 365 65 0 0 0 - R




0T

THSHFE HEHMRBIANFEATRER(EH] [BER]

(B4 FH)

S FI4HERE6 H A IE % T RAR

TSR

75

IR/ SR

X RITARE

A4 MR S | onn | mke | 7 | e | e | e fii
57| XIEAR P A LA 18, 046 17,270 18, 430 18, 429 18, 329 100. 0% 102. 1%
58| E A [52) 5 L 52, 871 52, 841 69, 252 62, 738 62, 708 90. 6% 118. 7%
59| X EAE BIEAR U EFE 42, 520 0 0 0 0 - HE
60 (P EAH MLEEERT X NT — A T LEE 35, 600 3, 560 1,151 1,151 1,031 100. 0% 3. 2%
61[ULAEEFEE (AR BERE R 3, 428 3, 428 3,471 3,416 3,416 98. 4% 99. 6%
62(SUALAENEFE % PR SR AT 2 371 124 418 418 140 100. 0% 112. 7%
63| SUL/EE R [HGRE T &b SR FE 1, 452 484 2,216 2,216 739 100. 0% 152. 6%
64(SUALAETEFE %= | SURIRILE 1,728 1, 368 1, 886 1,795 1, 455 95. 2% 103. 9%
653U b AR E E Stz P 7,225 5, 685 8, 337 8, 461 6, 921 101. 5% 117. 1%
66| SALAJETFHE=E |55 S LRebiRBLHEE 2,579 2,579 3,218 3, 526 3, 526 109. 6% 136. 7%
67| b/ETE R =R [k 3, 387 3, 387 3,081 3, 081 3,081 100. 0% 91. 0%
68| UL/ BT E R [ iR S A S 715 689 865 865 839 100. 0% 121. 0%
UL AEIEFEE | A4V v a v AREFHERE 2,523 1, 086 2,120 2,120 913 100. 0% 84. 0%
T0|SUfbAENE S E = [FOFREE R, 704 704 704 704 704 100. 0% 100. 0%
TUbAJEFEE | FOFME e 2 —FE 412 412 431 412 412 95. 6% 100. 0%
T2IBEIEFEE [ oo VTR E 504 504 539 519 519 96. 3% 103. 0%
TS AEETFE=E  ([F0F o —EiE 30, 459 27, 659 30, 230 29, 792 26, 992 98. 6% 97. 8%
T4 AEIEFE = [FOF ¥ —BdEE¥E 2, 464 64 5, 335 5, 300 1, 400 99. 3% 215. 1%
BIHRAR—YE | afEaatiis 300 300 300 300 300 100. 0% 100. 0%
T6|HRAR—YE |HERTAF &V & EHE 12, 843 12, 779 12,725 13, 479 13, 415 105. 9% 105. 0%
TIHRAR—YE  |[RELKREFEOE W& SEFE 3, 306 6 2, 690 0 0 el R
BIHRAR—=YE  |[REEERE KR 2,943 443 3, 208 3,111 611 97. 0% 105. 7%
O[T RAR—YE | ZAR—VIEENIEE L 6, 422 4,822 6, 340 6, 340 5, 640 100. 0% 98. 7%
SO[FEAR—E  [JABRIHI A R—Y 7 5 TR s 1, 200 336 1, 200 1, 200 336 100. 0% 100. 0%
Bl RAFR—Y=E |TRT7T=Aa— MEFE 119, 452 88 30, 745 0 0 ek HE
82| R AR —Y = oAl AR e 5 2 0 0 0 30, 000 7,500 o o




1T

SHSEE HERHRELYFEATRER(RLE] [BEER] (Bfz:FM)
- . A FOALERE6 A MIEA: TR B RNSAEE s 9 hH PUR/BESR | SFRTAR B
E N < S . 7N E 5 N p.
1122 R TR | onn | sk | 7 | i | ok | ww Ll
M RAR—VE |KEIERE PR 45, 825 38,112 39, 619 34, 182 26, 282 86. 3% 74. 6%
4|HERAR—Y=E |[HEF—LEFE 0 0 6, 284 0 0 R -
S5|HERAR—YE |[MAEKREEESRZE 23,935 35 0 0 0 - I
g8o|HERAR—Y=E |HREF v 75 HEE 14, 696 96 29, 543 0 0 I Bk
HEERBSESER A 1, 347,913 945, 587| 2, 028,282| 1,168,947| 1,079, 724 57. 6% 86. 7%




